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3. HA x 9 gke -ohH?

2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826
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13. sin(90°-A) = E% o, tan A 9] FF-2? (T, 0° <A <90°)
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tanA = —
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o8 JH3} 7ol LA = 45° , BC = 5cm
o1 AABC 9] Y O 2] viz] =5 9] Zo]
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® i @ 3V2cm
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~&B

23 2ol 40 ¢ A2 A'B S 109 5.0ptBC o tat 9
FZto] g7 AR gong
(BA'C = [BAC = 45°

Hhdof thgt Y240l 371+ 90° o] 22 /BCA’ = 90°
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17. o= I"4 ¥ 0 = 2ABC o WHYelL A D, E, F = Aol
AB = 10cm, BC = 12cm, AC = 8cm & o, BF 2] Zo]E 5}

BF = xcm 2} 5}'H BD = BF = xcm ©| B2

AF = AE = (10 — x)cm ©]2

CD = CE = (12 - x)cm ©|t},

AC=AE+CE°EZ 8= (10-x)+(12-x) °|E& x = 7Tcm
oJtt.




18. o2 I19g B HHY O 9 vA &
x & Bt ok A2

@ 0.5cm @ 1lcm ® 1.7cm

@®)2cm ® 3cm

OE = OD = AE = AD =x2}1 5}H
CF=CD=12-x

BF=BE=5-x

CB=CF +BFo|E&

13=(12-x)+ (5 —x) s x=2(cm)
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